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1 Y FolA 2 520 ymA Ula e A2?

D On seeing the police officer, the thief ran away.

@ As soon as the thief saw the police officer, he
ran away.

@ The thief had hardly seen the police officer
when he ran away.

@ No sooner had the thief seen the police officer
than he ran away.

® It was not until he ran away that the thief saw

the police officer.

= [e)
=27

2. B T ol Bt o
@D Any one cannot go.

@ I can’t hardly wait any more.

@ Bill availed himself of that opportunity.

@ There are good some flowers in the garden.

(® The hotel which we stopped was near the station.

3. The % oW B wFe?
@D He was seen to talk with her.

@ One more effort, and you will succeed.

@ Unless you call him, he will not come.

@ T don’t remember to mail the letter last Saturday.
® Ms. Brown is so good a teacher that everybody

respects her.

7189

N

o

[4-5] vt wiztel 744 44

4, We going out, it was snowing, and we

with cold.

were soon

(D shivering @ squeaking @ sorrowing

@ souring (® soaring

5. If something is out of the , 1t 1s
completely impossible or unacceptable.

@ tune @ blue @ time

@ order ® question

6. & F g Wzl FHOE Lo wolz 7}
g AAH AL
No words d from his lips.
Cheap round trip tickets are d in all

South Coast resorts.
A key

1990’s is the need for greater diversity of

for higher education in the

courses.
@D issue @ sale @ probe
@ purchase ® tale

o) vpolg medkH 1 obF @ @ Aol

= , he did a good job.

@ For his age

@ Considering his age

@ According to his age
@ Compared with his age

(® Taking his age into consideration

8 Us FElES o= vt2A &1 A2?
O F7F A= 77 solgtd 5 Hd.
= [ wish that we are on vacation now.
@ m=ollM = dEe® AA7F 4del g HA 2T
= In USA, a presidential election held every four
years.
@ M AP F= F7E o= ot
= The number of overseas travelers are expected
to grow.
@ 27k ARAE BA Kekhe A o] Uk Abs
AE BA 24,
= [ can no more drive a car than he can ride a
bicycle.
©® I+ Aol =2 EAA X ool
= He is going to stay in the villa where commands

a fine view.

A% 17 -5



9. b= 7} U3} 5 7H AA=y - A2
D A : I guess I'm catching a flu.
B : That's too bad. You’'d better see a doctor.

@ A : Why did you go to the hospital yesterday?
B : Because I broke up with my girl friend.

@ A : What would you do if you were in my shoes?
B : I would take them off for they're too big.

@ A : Can you hand in your homework as soon as

possible?
B : Be my guest.
® A : Madam, this is a one-way street. Pull the car
back, please.
B : You'd better call a tow truck to tow your car.

?

rlo

10. & Higtel S0z T2 7Hg AHe A

: What did you do last night?
: We went to the movies.

. What did you see?

. Murder in the Park.

. How did you like 1t?

ool ol N ool

@ You must have watched it.

@ I don't feel comfortable with this.

@ It was boring. I wish you had joined us.

@ It was fantastic. I wasted time and money.

® It was superb. I was unaware of the passage

of time.

[11-13] 29 584 Hizld] Sojg mdow 714

e L7

11. Why do we grow old? This is a question
that people have asked since the beginning of
history. Now biologists are looking for
scientific answers to this question. They think
that aging 1s part of our genetic program.
From the evolutionary point of view this

makes sense. A person who can no longer

have children is no longer to the
species, so he/she grows old and dies.
@ useful @ polite @ harmful

@ indifferent (® meaningless

12. One study done in the United States
showed that 93 percent of a message was

transmitted by the speaker’s tone of voice and

facial expressions. Only 7 percent of the
person’s attitude was conveyed by words.
Apparently, we express our emotions and
attitudes

D without much effort

@ naturally with no tools

@ accurately and precisely

@ with words and expressions

(® more non-verbally than verbally

13. After eating,
body from the stomach to the gut, where it

food travels through your

needs to be broken down. Your gut needs
extra blood to help digest the food. This

means to the rest of your

body, including your brain. This is why your

arms and legs feel heavy, and your mind

won't concentrate.

@ water is delivered
@ less blood is sent
@ more exercise is a must
@ a short nap is necessary

(® eating properly is important

14. o5 2¢] Fol olofA = wA= 7P gk L7

A country’s economic situation is affected by
the ability of people to balance their own
personal spending and saving. If people save

too much, they would not buy many things.

(A) A slow economy results in a miserable time
because making money becomes very difficult.
(B) Companies’ profits would decrease, and they
would not need as many employees as before.
(C) Eventually, many people would lose their jobs. This,

in turn, would cause the economy to slow down.

@ B)-(A)-(O)
@ (CO)-(A)-B)

@© (A)-(C)-(B)
@ B)-(C)-(A)
® (O)-B)-(A)

A% 17 -6



15.

thg Fold Bl oz 9AE 43 9

°©9

2

= However, very few snakes are poisonous.

9

e
T

Many people are very afraid of snakes. @ It
1S true that poisonous snakes can make you
very ill or even kill you. @ Most snakes are
harmless. @ In fact, they usually are afraid of
people. @ If you meet a snake in your garden,

it will probably slide quickly away. &

16.

=z} 0.9

A e 82

g

be ¥ 29 583

r

Chocolate contains chemicals called flavonoids.
Flavonoids act like antioxidants. (O This means
they expand the arteries, improving blood
circulation. @ This helps prevent heart attacks.
@ If you eat too much chocolate, you should
know that chocolate is high in fat. @ Dark
chocolate, which is slightly bitter tasting, has
twice as many flavonoids as milk chocolate.
(® Nevertheless, milk chocolate still has more

antioxidants than green tea.

17.

=y

o
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a
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T

oz AT R ALY

Every profession or trade, every art, and

every sclence has its technical vocabulary. The

function of the vocabulary is partly to designate
things or processes which have no names in
ordinary language, and partly to secure greater
exactness in name. Such special terminologies
or jargons are necessary in technical discussion
of any kind. Being universally understood by
the devotees of the particular science or arts,
they have the precision of a mathematical
formula. Besides, they save time, for it is much

more economical to name a process than to

describe it.
@O A zts dofatAl et
@ WAL 7HE S8 whEelxl Aol
@ %A A4S o Fushs] 9% Aol
@ 2E FR AR EJE ¥ ) o)
® A2 F4FHR 2 A4S AUIE B}

[18-19] th& 29 FAZ 1 AT AL

18. One of the animals that have recently
settled in North America is the zebra mussel.
This small shellfish was first discovered in the
Great Lakes in 1986. It may have come over
from Russia on a cargo ship. In a very few
years zebra mussels have spread over all the
Great Lakes or river bottoms. They have also
covered and closed up pipes for power stations
and water treatment centers. Government
officials say that the mussels have caused

many millions of dollars worth of damage.

D The ways of how a zebra mussel multiplies

@ The loss brought about by the zebra mussels

@ The diversity of new species in North America

@ How zebra mussels have come into North
America

(® The similarities between a zebra and a zebra

mussel

19. When her husband became president in 1933,
Roosevelt Eleanor feared the move to the White
House would make her a prisoner in a gilded
cage. But as First Lady, she broke many
precedents. She initiated weekly press conferences
with women reporters, lectured throughout the
country, and had her own radio program. Her
syndicated newspaper column, My Day, was
published daily for many years. Traveling widely,
she served as her husband’'s eyes and ears and
became a major voice in his administration for
measures to aid the underprivileged and racial

minorities.

(D Roosevelt Eleanor’'s contribution for the colored
people

@ The strife between Roosevelt Eleanor and her
husband

@ Roosevelt Eleanor’s aspiration to get out of the
White House

@ How Roosevelt Eleanor spent her independent
life as First Lady

(® What Roosevelt Eleanor did as a journalist and

newspaper owner

A¥ 17 - 7



20. tHe 2o 8AR b AAF AL

One key factor in the birth rate i1s the
availability of birth control. Women may want
to diminish their family members, but they
have no way to do so. In Ireland, for example,
birth control i1s illegal. It's no wonder that
Ireland has the highest birth rate in Europe.
Where governments have made birth control
easily available, on the other hand, birth rates
have gone down. This 1is the case in
Singapore, Sri Lanka, and India, as well as in
Indonesia, Thailand, and Mexico. In these
countries women have also been provided with
health care and help in planning their families.

Yet another factor to influence the birth rate
1s infant mortality. In industrialized countries,
infant mortality 1s around 15 percent. In
less—developed countries, however, it can be 20
percent or more. Fearing their children’s

deaths, women tend to have more.

D In many countries birth control is an unlawful
policy.

@ The reason why women generally dislike to
bear babies is that they want better jobs.

@ Women tend to have more children in Eastern
countries than in Western countries.

@ They must arrange as many effective programs
as possible to reduce population growth in many
countries.

(® The enforceability of birth control and the
percentage of babies dying in their first year

have an effect on the birth rate.
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16. T2 ¥4 59 S5 &Fd digt d¥oR |19, U §3 w8 &% HAHAA YEhd wRE

2e Re9 st T Aot ofE EdE AR A AA-ES

Al o R AT o &2 AL

(7hH 24 M= g Abste] 2AE Fojeltt

(W) = A AR7F 248 Ayt 7hH 27 FEAAA #xS R

(th) 24 =9 Em 2sd 229 FAFEA o]t} (W) #Hels F435te] ARt d&2ele =3

S =ohwithvl.

O Ube 55 3L A+ éé‘i_ﬁl‘%ggi T3 = AT (th) A7A22 23 #AA Aol AawY o
@ (WHF-del OhEd 7 ekl dEHol & 8 ro] QA

3F= At () dxse] FHoz AELS dE A 7|7t
@ (HERE T3 FNFe] 9L wowx F9 2 = Roly.

Exﬂg gA. (7h) SFANA EZeNA Astrhl Ad 5]

bt (W= =ul I 2de fal v A RO HA =19

[e]
%E a1k

® (hE bRt 94 Fdge gzes ag 2| O Oh - b - - @b - (b

)
Ao Zaaral o). @ (b - (t) - (b - (b - (&)
® (1) - (7 - (h - (@) - (b
@ (1) - () - (@) - (B - (b
17. o) 29 AA3 39 AR gg dger | © H - (H - H - b - @
&7 g AL?
(7h) 1972 W= T4 30 ¥F o] YREHIUT 20. T}S9 A E= e WE oo AMHAEH 2
(P 19913 &5 7] FoA 7 A8 E Solt}, o]5 o] #E <H 7> B FE
(th) 2000 & &35 AAdo] Tx AT, 8 = 94 o o9
O (7} - o1F FEHE A4 AA ZeE A (oh) st
@ Oh -y 24 ane 2A0 Fela (EDoHRE
©® () - &5 193 s Fatol AYH )
@ (W) - o) F T oik A% mF o] Hxw (EHEF,
SEXF ! (W BdEl
® (th - &2 53 Y Pt FEHL A9 (7 2HA
At
A

Aoz &4 &2 ZA2? <H 71>
O 549 des e didde] el B8 24 =

o]y}, (Vb= 957F AR Heol o FiHw] &
@ Ay JEH 2L W] kel FAAE viAs | | AR Felth

oA, (hE S8 A8 R $d o)F ¥e B
® ndol a7 # e ¥ HHE Fretel e | | =Ol A ‘”4

w #He] AER A (the 49slel A3 S dA7t 245 o]
@ el FHAE Fua] Sl 5% olst wae) | | TE 52 wAaR

S8o= AAS AXNEE s (T SAF 2 FRT olE FzRuE o
® HAAL AsnE HA Ao S@e Aol gl | | Tol AHEEAT

Pou}, Fite] ¢ gk okF, A)7kg ozt

ol51} &2t Ao AlE SAE AlgeAT @ 7P, () @ (7h), (}) @ (1), (v}

@ (), (&h) ® (), (&)
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F719FH Qre] =z ad] o] Wold o A}
SoA &= LRSS HEV|GAA] <k 5
5t d9o= FAA, I BREV|GHA FES T
NG AAHE AL 4 AQEdH, ol AL&3tE=
RE7]9%x 9] dFES T}

O RAM 2 ROM
@ WA 719 %A @ A7 A=A
B 7H719 %A
2. <H7]>9] AxEAZTE O F Ao ZE I
st ASE BF 1E AL?
<K T7]>
2 U, A Az 2 7

2, dojHg=zzad
Bl Sl R= R et A

D v, = @ v, =, H @ ©—, &, d
@ 1, =, d ® 7, v, =1, Hd
3. dA AgFold Z2M7F AAHE AIZE o] A
A=E=9 Q79 9ot ~2~% CPUE Hbdstal 7]
MNE R Aol A2
@D Block @ Deadlock @ Interrupt
@ Wake up ® Time out
4 0% w=dEes mddeR s BT AL
a D>
| —F
e
D F=A+B @ F=A-B ® F=A-B
@ F=ADB ® F=AGB

U= RS Aow F& A7
@ (6207.84)s @) (4743.5)
® (6357.64)s

5. 16%15= CEF.D=
D (23462.62)5
@ (23427.48)3

6. @AY dolgdA FH7|(Candidate key)7} THS
oF & T 7px AR Jbg Bge Aeo

@ AT A
@ =sHAd A4

O:

OEDEEIERS
® FAY A2

® =40 224

O:

7. U=

Eg o A5 derso F2 uE

H o) AL

D 2 3 @ 4, 2 ® 3, 6
@ 2, 4 ® 4, 10

8. Ths SQL AojFola FF3 ZAYES ol
QEAwEoR Yol7f e A= Ba9 UdH
Aoz Fol HolEs AES u) UE I REI
2k A2

SELECT * FROM #¢ WHERE A%="%
ORDER BY  ;

UP, &+ DOWN
ASC, &+ DESC
DESC, &+ ASC
ACEN, &+ DCEN
DCEN, %+ ACEN

D ol
@ ol
© ol
@ o
® o]

—_
o1
oo

|01 3| Ot

@ B
® E

@ A
@ D

10. oh ey Awlol A shbe] TEA 2Tt A

T3 A T AGAA HolA F-A7E HAATOENH
AA| Al2=gle] Adso] Aty = A7
@ (Polling) @ 2% % (Spooling)
@ <1¥ 214 (Interleaving)

Zg
2~ 27 (Thrashing)
AtolZ 2" (Cycle Stealing)

C)@
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11. o5 & A= A E(Selection Sort)= i%i}—ﬁr
AEs 79 Pass 25 AP o Anpg & A
2.9

10 3 5 9 6 8

@3 59 6 8 10
@3 10 59 6 8

@3 5 10 9 6 8
@3 5 6 8 9 10
® 10 3 9 6 8 5

12. <®7|>¢] SQL W®°] < DDLel sf3dst= A=
Foae AL
<H 71>
1. INSERT L. ALTER =. DROP
2. SELECT . CREATE H. DELETE
@ 7, &= ® v © o ) T = =

13. 58 H<& Frwelv)?
S So
v 2 3
@ <=t
I, @ vl 7]
@ HE]ZIA
© YHEEZE A
Iy
F
I;
R
I5 L)
14. %9 E/W(nfix)e 4 (A+B)+C+DE A
E 7)1 (Prefix) &2 v}2 4 W3k3 282
@O A+B*C+D @ AB+Cx*D+ @ +AB*+CD
@ ABCD+x+ ® +x+ABCD
15. oA Arels ~7|up=?

JJElE BRH x4 A dolEuoel s Tx
Eedow Ao
@O oF-=71m @ Ad=7Int @ WF2=7]8t
@ WE=7Im G S&=7]nt
Ad

HHet=
o F JFgko] BF 1o EFghe?

@ Set @ Reset @ urA

@ el = G 3 &ax Lo

17. OSI 7TAZ A &9 7%5< F8qse A=L?
o A& A

o =% Ao

o WA AR A%
o AR w3 W 2 %

D w8 A= @ AR A=

® 4% A% @ Mg A%
® deld 22 A%

18. NCSC HOHsH& W& oA %L
e zer
@ D-C1-C2-B1-B2-B3-A
@ D-C1-C2-C3-B1-B2-A
@ D2-D1-C2-C1-B2-B1-A
@ D3-D2-D1-C2-C1-Bl-A
6 DI1-D2-C1-C2-B1-B2-A
19. 2XES o] ALF7E ZX

= 48 (Waterfall) =d =2
R v <H7|>9 #AE v

A g A2

<H 7>
-1, AA woTE C. HXAE
2. 74 o, 4 H. ARG

D T--t-2-u-d ® v-2-t-o-1-d

Q@ c-2-1-L-u-H @ c-T-u-g-2-d

® g-m-1-L-t-d

20. 94 fAAE|A BlAel| “=COUNT(AIL:A7),
B24e] “=COUNTA(ALAT)"S 4=€3d<= o B1A
3 B2Alel A grow wpEs] AA o AL

| A B

1 1 @® 3, 3
2 iz @ 3, 4
3

4 | 2012-04-14 ®4, 6
5 |computer @4, 7
6 3 © 6, 7
i 5

s 17 - 14



@ A @ nd=a Ao
@ oAl &2 o @ MAA g Ao
® B3 T2y o

2. JAVAoﬂ/\ﬂ /\}‘%—6&]‘ .q: 9\}]\15_ _zr_/j'
()

Y 12 AL
<K 7>
. L <l-- =1 c. //
=, " o, fx ok
D a, 2 ® ., © ©) B
@ C,o [
3. C Z2aP A freedTE WEHE AT F Y=

1. allocmem() L. calloc() . famloc()

. realloc()

@ v, =

@ 1_‘7 E? D

2. malloc()

@, o
@ L’ 1::7 E
Ag F

4. Visual Basic% Commandl HES FH3 <&

o Str29] #h?

Private Sub Command]_Click()

Dim Strl As Double @ 87

Dim StrZ2 As Integer @ 87.67
7.

Strl = 87.67 © 87.7

St2 = Cint(Strl) @ 83

Print Str2 ® 89

End Sub

5. cho-e] HTML B4 4882 o tehbis Aol

=
=
*é“é = %—% A27?

<html>
<body link="red” alink="green” vlink="blue">
<a href ="mhtml” target="_blank”>H| ¢1</a>
</body>

</html>

6. TS Visual Basic 2213 Ad) Ay} ccol zhe?

Private Sub Form_Click()
Dim cc As Integer

Dim 1 As Integer

cc =0

For1 =1 To 100 Step &
cc =cc +1

Next 1

Print cc
End Sub

@® 0 @ 12 @ 13 @ 14 ® 97

7. Auk 2AHES E83 HTML 49 24 23

[e)
7

<html>

<script language="javascript”>
<I--

var cl, c2, c3

cl =2,c2=10

cl = 10 + ++cl

c3 =c2+ 10 < 15

document.write("c1=" +cl + "<br>")

document.write("c3=" +c3 )

J/==>

</script>

<body></body>

</html>
D c1=13 @ c1=13 @ cl=14

c3=false c3=true c3=true
@ cl=14 ® cl1=16

c3=false c3=true
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}\1\

#include <stdio.h>

void main() {
int 1;

1= 1;
while(i<100)
{
if(i%4 == 0)
printf("%d\n”, i-1);

1++;

@ 0 @ 4

9. o+ C 2

[k

2RSS

ﬂ.l o
i
O?:"‘;
o
i)
%)
%}l_,
rlo
~

#include<stdio.h>
#include<string.h>

void main() {
char *s1="Korea Seoul”;

char *s2="Korea Jeju”;

if (strcmp(sl, s2) > 0 )
printf("Seoul\n");

else if (stremp(sl, s2) == 0 )
printf("Korea\n");

else

printf(”Jeju\n");

D Jeju @ Korea @ Seoul @1 ®O

10. thEol A Awate AR FEA B L2

CELER L
olo]1ES XA
goz zAstl 47 e

@ Coad
@ Jacobson

@ Booch
(® Rambaugh

@ Yourdon

tﬂ e 2 st FHOE o|FT W A g

3 AR 258 HAFSHE 28¥ 7]H(Graphical

Techmque)

@ dleoly =5 %=(DFD)

@ dlolg A}A(Data Dictionary)

@ Z=Z M2 WA (Process Specification)

@ 2Fe) A o] %=(State Transition Diagram)

® A& A== 7 W (Jackson System Development)

12. WEgE T2 gdoA ALLsty] AYses 2
7HA R E Uye, vty 5 tlolE FA(HIHE)
of AEE A2

O A9 @ EAFx @ AT

@ % TE I O ZzEOY F=

13. gl AHsles g5 dugse?
O 197739l IBMoA] WFEolx &
O 64bite] HES 3 /e 5507 48 B
O 56hite] 7]= o] &3}to] 64bite] Yo w2 3t
O m] v} AR AE] TS 46(FIPS PUB4E) O & | €N
@ Dq @ Des @ Cyzer
@ Solon ® Rall fence
14. oS C =g adS A3 Ayl o9

#include <stdio.h>
#define change(x,y) imsi=x;x=y;y=imsi;

void main() {
nt 1, j, K=5, imsi,
int num[5]={5, 9, 3, 7, 4};

for(i=0;i<Ksi++) {
for(j=0;j<(K-1);j++) {
if(num[j]<numl[j+11){
change(numljl, numl[j+11);
}
}
}

printf("%d\n”, numl[1]);
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15. & C 23S 233

#include <stdio.h>

void main() {
int sul=16, suZ2=4, movl, movZ;
movl = sul >> 2;
mov2 = suZ2 << 4;
printf("%d %d\n”, movl, mov2);

}
D40 @464 @640 @64, 10 O 64, 64
16. I}Y ‘resulttxt’'®] AH 7} otefol S uwf, Visual
Basic Z=139] 23] A¥} totale] FH2?
242531
124242
[result.txt] 232521
Option Explicit
Private Sub Command]1_Click()
Dim dabl, dab2, dab3, total
Open "result.txt” For Input As #1
Do While Not EOF(1)
Input #1, dabl, dab2, dab3
total = total + dab2
Loop
total=total/3
Print total
Close #1
End Sub
D5 @ 6 @ 9 @ 16 ® 18
17. T C 2299 Ay oz &2 A2?
#include <stdio.h>
void main() {
int n[5] = {10,20,30,40,50}, *pt;
pt = n;
printf("%d %d %d %d\n”, nl2], *pt, *(pt+2), *pt+2);//D
printf("%d %d %d\n”, *(n+4), =(++pt)+1, pt[2]);//@
printf("%d\n”, *pt++); /3
printf("%d\n”, *pt); /@D
printf("%d\n”, ++(+pt)); //®
}
@ 30, 10, 30, 12 @ 50, 21, 20 @ 10
@ 20 ® 21

18. C ¢dojellA
< ), Wl

struct card {

int no;

char name[20];
} student;

D scanf("%d”, student->no);
scanf("%d”, *student.no);
@ f("%d”, *student.no)
scan ) student *no),
® £("%d", student )
scanf(”% student->no);
@ f("%d”, &student->no)
® scanf("%d”, &student.no);

}

H

19. U XMLEA A ofefe}l o] &3}
] @l 2~E}Y Al E(beauty.css)E 4] s}
o] vf=A #H AL2?

(9 gw] | FIT G A

oﬁ e

rlr

£ 320 12,000

<?xml version="1.0" encoding="euc—kr"?>

@

<LIBRARY>
<BOOK>
<TITLE>AH A o] §</TITLE>
<AUTHOR># &</AUTHOR>
<PAGES> 320 </PAGES>
<PRICE> 12,0009 </PRICE>
</BOOK>
</LIBRARY>

D <?xml-stylesheet href="beauty.css”?>

@ <?xml stylesheet type=text,css,beauty.css?>

@ <?xml type="text/css” href="beauty.css”?>

@ <?stylesheet type="text/css” href="beauty.css”?>
® <?xml-stylesheet type="text/css” href="beauty.css”?>

20. Aol U5 dHol 1 F£UF 29 AFAH
(1, 2, 4, 8, .)AAZ FHe= C ZEado|t} O),
L, @°l o4 oz & A2
#include <stdio.h>
void f(int a) {

ifa >[ 0 | && (a (a-1)) == )
printf("%dx= 29 ASAFYYHn”, a);
return,
}
void main() {
int input;
scanf(”%d”, &input);
f(input);
}
Do, + 0 @0, &, 0 @0, -1
@D 1, &&, 1 ® 1, -
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